=5 = =5 A.C.
ALA7 COMPRESSOR

S i 5= MOUNT

348-409 Chevy - Passenger Side

HEAD

Low Profile
3/8 x 2° d e 1 15/16" Spacer
; /—2 3/16" Spacer
. (%
® G, 3/8"x 1 1/4"
\ %) A, 3/8" Nylock Nut
A\Y S '. -
5/8" Spacer ‘W” N
& 7/16 x3 1/4*
3/8" Nylock Nut A NNV
A~ e 2> 38" x1 14 @ G
7 A Q@ TG @
(f((m. — &z N\
3/8°x 15" Q- q 0
| | Q 3 14 3/8" Nylock Nut
This bracket was designed to be used 3/8"x 1" ; /

with Chevrolet double groove crank and
water pump pulleys. The current G.M. part
Numbers are 3744043 for the crank and

3995642 for the water pump. Note: Relocation of the battery may

When installing the mount, start %eOLencTiLﬁ:esgr’feu;g;rl;g;i%r:gessor /@
all bolts and mount the compressor 3/8" Nylock Nut
before tightening. (We use a belt length of 61 1/2-62"

with this rmount on installations in

our shop. However; this can vary

with the diameter of your pulleys.)

@‘ 3/8" x 3/4
e

3/8" Flat Washer

As with any part of this nature, make sure it fits your application before painting or plating.
Parts that have been painted, plated, or modified may not be returned.




A.C.
COMPRESSOR

MOUNT
126R

348-409 Chevy - Passenger Side
Low Profile

ALAN GROVE COMPONENTS, INC.
27070 METCALF ROAD
LOUISBURG, KS 66053



	Page 1
	Page 2

